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24.  Consider the reaction: BaCOszigy + heat = Balyg + COayg

Which one of the i'nllnrwmg observations will indicate that the reaction has most likely
achieved equalifrium’
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a) The mass of the systermn becomes constant I'(ﬂj r' "eors. 0f reass
b} The concentration of BaOy,, becomes mnstin {ranc 8 _tpﬂ'd.. - d-.ﬁur'j,m Eaﬂdfﬂwf‘,}
c) All the BaCOxy is consumed. { dodas’

d)} The gas pressure of the .q-mm bemmes cmst.anl
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Consider the following reaction: Feltpag) + SCN-ug = FeSCMN2Hpg
A solution of Fe(MNOa)s is added to a solution of KSCM. As equilibrium is being established,

the [Fe+] isM%and the [FeSCN2+] _mr_ﬁe&%
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